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Hu: HTAASH
Sl HBUARY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ST H 16,572,935 15,047,423 1,525,512
= 1,197,000
s 65,000
< 3,737,800
Al 11,573,135
g3 g=sd 15,527,335 14,131,323 1,396,012
= 1,197,000
< 3,700,000
Al 10,630,335
Sg3ME=RH 10,778,000 7,105,789 3,672,211
< 3,500,000
Al 7,278,000
SIRFNUERH 8,758,000 7,085,789 1,672,211
< 3,500,000
Al 5,258,000
101 @124l 45,000 45,000 0
04 JI2ZtHZ22HEE = 45,000 45,000 0
ORF3MY g2 BX 45,000,000& 45,000
201 €24 17,000 17,000 0
01 At 22l 10,000 10,000 0
O el 7,000,000& 7,000
O= &l 3,000,000 3,000
02 =224l 7,000 7,000 0
03323 % HA 2,000,000& 2,000
O Xt& & Byl 5,000,000 5,000
202 04l 20,000 20,000 0
01 = LH 4 Hi 20,000 20,000 0
O=2A=Z I 20,000,000& 20,000
203 R =&t 11,000 11,000 0
03 A F=XH R =AY 11,000 11,000 0
og3igsd g2F2 7,000,000& 7,000
OALEHZRNMACNEL H2ET S
4,000 4,000
307 21201 A 220,000 0 220,000
04 QIZFHALAIH B = 220,000 0 220,000
OUHHZOtEAA 220,000, 000& 220,000
308 A EHHSOIA 8,445,000 6,992,789 1,452,211
< 3,500,000
Al 4,945,000
10 3J/2S0HUHSBHEAEALS I 8,445,000 6,992,789 1,452,211
oZga3zagiad 29 150,000, 000& 150,000
ong=sad Rgs KAl 15,000, 000& 15,000
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OSXIALHH PAV JI=oHe ZHIHE JHE
100, 000 000& 100,000
OBTRBAM MAEALY A
250,000,000 250,000
O8I dEAHRHEEH XIJAAY
100,000, 000& 100,000
O3S NSHAMME XA (2L BNEI=HE
w) 10,000, 000& 10,000
O=St WSS AMAE XA (FAHS W)
10,000, 000& 10,000
OBB2EMNY HBAH NAAY
600,000,000& 600,000
O3 SEMES AMSEI 2HANLE 25
A 7,000,000, 000& 7,000,000
< 3,500,000
Al 3,500,000
O&3Jl RES ANEAILAE Jlg+=
210,000,000 210,000
SgZIotee N & 20,000 20,000 0
201 £B-2dH| 20,000 20,000 0
01 At 22/l 20,000 20,000 0
O&: I L JEE 2, M
20,000,000& 20,000
301 ol olmet RAAY 2,000,000 0 2,000,000
401 AIEBIZL 28I 2,000,000 0 2,000,000
01 A& HI 2,000,000 0 2,000,000
O&371Y &4l o=t ZHAE
2,000,000, 000& 2,000,000
Net2A 2,189,335 2,175,534 13,801
= 597,000
Al 1,592,335
AMEEEEZ =2t K& 1,194,000 1,194,000 0
= 597,000
Al 597,000
307 21201 A 1,194,000 1,194,000 0
= 597,000
Al 597,000
05 RIZHRI & 3 1,194,000 1,194,000 0
OMNBELST2FDSR AL U2
1,194,000, 000& 1,194,000
= 597,000
Al 597,000
MEFHSZFost2 29 995,335 981,534 13,801
101 1244 dl 178,015 174,214 3,801
04 D12t Z2XREES 178,015 174,214 3,801
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Sl DY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ousta 23 22l 178,015
ool 68,7203 x4H x195 53,602
oFItrg 68,7203 x4H x522 14,294
SRS, 68,7203 x4H x12 3,299
oxdU2RRH 100,200& »4H «52 20,842
oAN242A2RxE 12,5303 x4 60 Al 2t 3,008
oc=0dg S 4HEEZ  93,054,000& x13% 12,098
o EAZ 1,500,000& x4 H 6,000
CcUAAY A2 (FL2R)
68,7203 x8H x118L 64,872
201 2et24d] 121,320 121,320 0
01 At 2teltl 33,320 33,320 0
onsta2d 25,000,000& 25,000
otz HitIds 22 280,000& 280
Osg st 22X% Sl 5,040,000 5,040
ousta 24 22= MA 3,000,000& 3,000
02 2324l 88,000 88,000 0
O A& ZEHlS X bl 13,000, 000& 13,000
03323 % HA 75,000,000& 75,000
307 glz2tol & 686,000 686,000 0
05 Rzt &= 686,000 686,000 0
OAMEEHS IS AlE 2EH|
686,000,000 686,000
401 Al HIZ 2018 10,000 0 10,000
01 A& HI 10,000 0 10,000
OE=E0 482 ¥ ZEZE HZE 10,000,000 10,000
SDAMACT TA 1,060,000 3,350,000 ~2,290,000
2 600,000
Al 460,000
Y S3IAHEX =L (IIBHAIE) 960,000 500,000 460,000
= 600,000
Al 360,000
401 AIEHI L 2 CHYI 960,000 500,000 460,000
= 600,000
Al 360,000
01 A& HI 953,448 496,400 457,048
O0ZdY 33 tArA ST (AFE X ) H =A™
clIAl" XIS A 854,348,000 854,348
= 596,220
Al 258,128
O0dY 33 NALT(AIEX 7)) SLESAl
o AXSAM 99, 100,000& 99,100
03 A& =TI 6,552 3,600 2,952
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cHel: EPE EERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O3Y SZ2IIMAHX(AFE X)) H 2= H K
2lAlE EXIZ2A 5,652,000 5,652
= 3,780
Al 1,872
O3Y SZ2IIMAX(AIRE X R) 22 Al
A A X2 A 900,000& 900
AL S22 APA T R (KK ALY) 100,000 50,000 50,000
401 AIEHIZL 201 Y| 100,000 50,000 50,000
01 A& H| 100,000 50,000 50,000
OZY SIZZIAASHX (AR X F) =8 XA
K& A 100,000,000 100,000
AFE Ol Of & 1,500,000 1,500,000 0
o= 200,000
Al 1,300,000
APE OO & 1,500,000 1,500,000 0]
o= 200,000
Al 1,300,000
307 QI2t0| & 1,500,000 1,500,000 0
= 200,000
Al 1,300,000
04 SIZ2ISHAFAISHE E X 1,500,000 1,500,000 0
O AFE Ol O & 1,500,000,000& 1,500,000
= 200,000
Al 1,300,000
IS ENEA 966, 160 836,660 129,500
g 65,000
= 37,800
Al 863,360
L ENEXN 966, 160 836,660 129,500
= 65,000
& 37,800
Al 863,360
EXEX 431,200 331,200 100,000
201 gBt24y| 21,200 21,200 0
01 A2t 2| bl 21,200 21,200 0
O3NET EXNRXNANEIZ2 A2 U=
2,800,000 *43| 11,200
EXNsSXN 223 M 10,000,000 10,000
308 XAHXIGH SO0l & 110,000 110,000 0
07 AXSHHZ2HESS S 10,000 10,000 0
OEXNRIXNEEIZ B2 10,000, 000& 10,000
10 B 2SUHUEHEAEE AN Y| 100,000 100,000 0
OADEZHE 2= XN 100,000,000 100,000
701 JIEISI HSHE2 300,000 200,000 100,000
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HE: J|AENSZ
Sl JYENEH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 JIEtel HE &= 300,000 200,000 100,000
OSAIIYEEELSAEE=Z 300,000,000 300,000
NEENEE 100,000 100,000 0
ras 65,000
< 21,000
Al 14,000
402 RIZEX201 ™ 100,000 100,000 0
s 65,000
< 21,000
Al 14,000
02 RIZEXt 2 AL EZ (01X TS ) 100,000 100,000 0
OXNEEXNZEA XA 100,000, 000& 100,000
s 65,000
= 21,000
Al 14,000
FHIY MRrNEH EXx3 XNE 18,000 51,000 A33,000
< 9,000
Al 9,000
307 glz2tol & 18,000 51,000 /33,000
< 9,000
Al 9,000
02 IZtE M AHE L 18,000 51,000 /33,000
oFYIIY MrnELH EX3 X
18,000, 000& 18,000
< 9,000
Al 9,000
MEANZZASE=I2 XA 326,500 259,000 67,500
307 21201 A 245,000 240,000 5,000
05 BIZHRIE 3 245,000 240,000 5,000
OZZ A= A& 22 245,000,000 245,000
401 Al HIZ 201 Y| 48,000 19,000 29,000
01 A& HI 48,000 19,000 29,000
oOZZ2AEEg=NZ =XE &2 & 2 WA
48,000,000& 48,000
405 XHoHF S HI 33,500 0 33,500
01 et ESFH S 33,500 0 33,500
o2z NEE=A2 =44 WA
33,500,000& 33,500
S AtEtE & 224 X#E 34,460 39,460 A5,000
201 £B-2d| 3,460 3,460 0
01 At 22l 3,460 3,460 0
O Et==EH| 3,460,000 3,460
307 glz2tol & 31,000 36,000 A5,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 31,000 36,000 5,000
o2z A XA 31,000,000& 31,000
2A=Q=0 XGAs HEXA 26,000 26,000 0
< 7,800
Al 18,200
307 glz2+ol & 26,000 26,000 0
< 7,800
Al 18,200
02 LAFAAHEX 16,000 16,000 0
o=e 22X st=2ud 299 16,000, 000& 16,000
< 4,800
Al 11,200
04 DIZHHALALSE E X 10,000 10,000 0
Og=¢e 22X HSg sote =AH
10,000, 000& 10,000
= 3,000
Al 7,000
MEAIHEAAZ2Z2NXNJHEH 23 30,000 30,000 0
307 21201 A 30,000 30,000 0
05 BIZHRIE 3 30,000 30,000 0
OMBABIZREZZIANAAEH X3
30,000,000& 30,000
HE2IZH(RFE2 ) 79,440 79,440 0
Jl23dl 79,440 79,440 0
JlE2&l 79,440 79,440 0
201 2ot 2 Y| 8,000 8,000 0
01 At 22l 8,000 8,000 0
oY==t 5,000,000& 5,000
O= &l 3,000,000& 3,000
202 o4dl 63,840 63,840 0
01 = LH o4 1l 63,840 63,840 0
O2LEZ NI 280,000& x19H 123 63,840
203 YR =2t 7,600 7,600 0
01 JIZ2Z YR8 4,000 4,000 0
os=g3= 24 4,000,000& 4,000
04 FN2ELRZ=TH| 3,600 3,600 0
ORM2IYRFLH 300,000& »12& 3,600




